1D pull distribution

~ 0 ) ) © ] © I

S 2 2 & & 3
3§ s 5 2 8
S > =) >
= o e H o

+ [S) o o H -
0 + A 0 o

< ~ 5 by a
S S 3 2

=1 by S 3 B

8 & T S —

§ ° ]

z = ]

> S 2 “ = ]

7] € o k<] el © —
< a 3 = 2 ] < g
3 Tz 2 2 N 5 8 5
= 2} =} [¢] < o = (7]

i -

L a

P T R | 1 | N
< N o [ee] © < N o
— — —

46.07 / 57

—606.4

X2 / ndf

125

+

pO

Adet (ppb)




Adet RMS (ppm)

° — e29¢ev
° — zz0ev

° —{ 1298

° — 029y

° — 0'99¢ev
° —{ T's9ey

° — 0's9ev

° — evoey

— Zv9eY
—{Troey
— 0v9eY
— v'E9eY
— ee9ey
— ze9ey
—{Te9ey
— oegey
— €29ev
— zzoey
—{Tzoer
— 029y
— ¥'ToeY
— €T9¢eY
— 19w
—{TT9eY
e —{oToey

e  — vogey
° — g09ev
° — z09ew
° —{ 109y
e —{oo9r

° — €65
e  —zesey

e —Tesey

e —oe6sey
®  — vBsEy
° —| e'sser
® — zssey
e —T8ser
e | o08sEy
° — zisey
e —TuSer
° — o'2sey
e —{eoser
® —zosey
e  —Tosey
° — 095V

° —| e'sser
®  —zssey

° —{ T'sser
e —{osser

° — €vSey

®  —Zvsey

® —{Tvsey

° — 0vSeY
° — e'gsey
® —zesey
° —{Tesey
®| | | oeser

120 —

________________
o o o o
© T} < ™
— — — —

(wdd) sy
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lagr_asym_us_avg RMS (ppm)
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lagr_asym_usr (ppb)
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lagr_asym_usr RMS (ppm)
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lagr_asym_usl (ppb
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lagr_asym_usl RMS (ppm)
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1D pull distribution

—0.01371+0.1267

Mean

0.9646 + 0.08956

Std Dev

Underflow

Overflow

1.859/5

X2 / ndf

11420

Constant

-0.01574 +0.17285

Mean

\ Sigma. 1.104 +0.161

53.98 /57

X2 / ndf

4

56 +118.

—-33

pO

o

lagr_asym_us_dd (ppb)

-1000
—-2000 —




lagr_asym_us_dd RMS (ppm)
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